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11. s40| st &
g Olat SM42 St 22 AE Lag =25 USB
ENOF M= 24
EHOF AFZ S0
=J|8
Sels W Olat SM2 S &2 N2 Lag =2 U3
EHOF IS 24
EHOF AFZH S0t
=23
20 &sH=S M Olat SM2 S 22 A Zas =2 U3
=
EX
EHOF XIS 24
EHOF AFZ S0}
=2J|8
=0 SHUAS M Olat SM2 S 22 U2 ZLag =2 U3
E=Z =12
==20| LIS
=N
L A2 Suld &8
aOMN &M
NS/ 829 Z2 1 HEE ENE s
HY o2 LC50 E& &I 7 11.8 mg/I 4 A2t
LD50 & 1l > 2000 mg/kg -
LD50 &+ > 5000 mg/kg -
AOI 22 A= LC50 & JIA. > 8000 ppm 4 A2t
LD50 &1 =9)] 1 mL/kg -
LD50 &+ = 1800 mg/kg -
=2 /BAN
NE/EE2Z 21 MEE A8 20 |& =&
HY gl T -BEAZO N24 | E) - 24 A2 100 |-
=2z milligrams
I8 - 2E3co 4= | &) - 100 Percent |-
8 22
Ol At} EIELS o2 - efst 1= 012t - 72 A2t -
AOI 22 A= = - AN=4d=22 IRS=E - |- - -
0| EJ|&%
NI =
= - 48 A= =] - 20 -
milligrams
= - &8t A=2 E7| - 24 A2+ 250 |-
Micrograms
02 - st 1= o112t - 48 A2t 50 |-
Percent
o2 - efst 1= IRsS=E - |- - -
E0| HIl1e
N
05 - ot X} = £l - 500 -
milligrams
cobalt bis = - &8t A= Iss=s - |- - -
(2—ethylhexanoate) Z0| "ole
| 23S
oA
B/ 8249 LEZ=Z HES Z
cobalt bis o2 IREE - 0| GILDX ¢ |UUAL=SE
(2—ethylhexanoate) =
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12. 8H0 DIXIE L&
b MElSd
al2t5 HEHOILE RIES 2 21 S.
HNE/42H 21 MES s
0l&tst EIELS =4 LC50 3 mg/l &= 2257 — Ceriodaphnia dubia |48 Al2t
- A0t
=4 LC5H0 6.5 mg/l &%= EWHE - Daphnia pulex — &l |48 Al2t
MO}
=4 LC50 >1000000 pg/l oH=z= = 17| - Fundulus 96 Al2t
heteroclitus
AOI2R2E A= =4 EC50 32.9 mg/l &= X2 (&%E) - Chlamydomonas | 72 Al2t
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